
[image: image24.jpg]Varren:
‘el it seems to me that we have too much capital tied up in that darn inventory.
V'hose decision was it to buy that much?

nid:

- was mine. At the time, we felt that the price was too good to pass up, but we had
buy a large quantity to get the price. I think that I might have a solution to our
-oblem, however. Recently, I had lunch with the controller of Warehouses
nlimited. He was dismayed over the fact that they had excess warehouse space
cv couldn’t “give away”. I know that they have excess cash as well. Perhaps
mething can be worked out.

arren:

2ve another meeting to run to now. Enid, will you please follow up on your idea
{ report back to me as soon as possible?

1d contacted Warehouses Unlimited (WU) and was able to strike the following





[image: image2.jpg]FINANCIAL CONTROL
OF INVENTORY

One of the areas frequently overlooked in the preparation of manufacturing
professionals is their financial knowledge. Experience has shown it is not

ecy master a level of detail such as the accounting rules of debits
and credit. However,at a minimun, i s necessary to understand the finan-
cial . s of financial discussions and decisions. By becoming familiar
s Aranct] s, you begin to develop “a feel” for the information.

The following should be understood:

> Financial Statements: Types and components of Balance Sheet and
Income Statement

> Key Ratios and Formulas Such as Inventory Turns: How to improve
them and their impact on cash flow

> Basic Manufacturing Equation:  Beginning Inventory
+ Production (transfers in)
= Available to ship (use)
- Shipments (transfers out)
= Ending Inventory

> Costed Bill of Materials

» Activity-Based Costing




[image: image3.jpg]BALANCE SHEET BASICS

‘The Balance Sheet is a statement—as of a specific date, for example, Decer

ber 31—of what the company owns (assets), what it owes in debis (iabilities)
and the difference between these two (assets minus liabilities), which is
called the stockholder equity (net worth)

Balance Sheet Components

Assets—Items the company owns.
Assets are divided into short-term
(consumed in less than a year) and
long-term (have value for more than
one year). Examples of short-term
assets are cash, accounts receivable
and inventory. Examples of long-
term assets are machines and
equipment.

Liabilities—These are debts owed.
Liabilities are divided into short-term
and long-term. Short-term liabilities
includes accounts payable and taxes
payable. Payment is due monthly.
Long-term liabilities include the
acquisition of buildings. Payment is
spread out over years

Shareholders’ Equity—Contains
the value of the ownership of the
stockholders (owners) and the earn-
ings and losses the company has
incurred since the company was
started (retained earnings).




[image: image4.jpg]Sample Balance Sheet
(In millions of dollars)

Prior Prior
year  Current year Current
Current Assets (000) Current Liabiliti
Cash 80 100 Accounts I’ayable 100 00
Accts receivable 160 200 Shortterm debt 120 0
Inventories Total current liabilities 220 700
Raw materials &
Workin-process @ Long-term Lisbilities
Finished goods %0 Long-term debt s a0
Total inventories 210 TOTAL LIABILITIES 535 1140
Total Current Assets 50
Property, Plant and Equipt. Shareholders” Equity
e . Common stock 5 55
o e Accumulated retained )
Machinery, equipt, tools _535 ST & =
Total Prop, Plant Equipt. 800
e snalin o Bt B o S0
Net Property, Plant, Equipt. _625
Total Liabilities and
TOTAL ASSETS 1075 1760 Shareholders' Equity 1075
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A BALANCE SHEET
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The Balance Sheet is a statement—as of a specific date, for example,
December 31, 19XX—of what the company owns (assets), what it owes
in debts (liabilities) and the difference between these two (assets
minus liabilities), which is called the stockholders’ equity (net worth).

The assets are always listed in order of liquidity—how fast they could
be turned into cash.

The assets are divided into short-term assets (cash, accounts receiv-
able, inventory, and so on) and long-term assets (machinery and
equipment [less depreciation], facilities, land and so on).

The liabilities are always listed in the order in which the creditors
would have claims against the assets should bankruptcy occur.

Liabilities are broken into short-term liabilities—accounts payable,
accrued payroll, short-term notes and so on; and long-term
liabilities—long-term debt and so on.

The total of the stockholders’ equity section of the Balance Sheet must
always represent the total assets minus total liabilities; so the follow-
ing equation is always in balance:

Assets — Liabilities = Stockholders’ Equity, more commonly shown
as the basic accounting equation: Assets = Liabilities + Stockholders’
Equity

The stockholders’ equity components are always listed in the order
in which the stockholders would be paid after the creditors, if the
corporation were liquidated. For example, preferred stockholders
would be paid before common stockholders.

The retained earnings section of the stockholders’ equity balance sheet
represents the accumulation of all the profits and losses since the
corporation’s inception.




[image: image6.jpg]INCOME STATEMENT BASICS

The second type of financial statement is the Income Statement. This statement
shows revenue (how much the company has earned year to date), Cost of Sales
(how much it cost to produce the products sold), Gross Profit (determined by
subtracting the Cost of Sales from the Revenue). Al other expenses are included
in the Sales, General and Administrative Expenses (commonly referred to as
SGé&A) The net profit is determined by subtracting the SG&A expense for

the Gross Profit. Following is an example of an Income Statement.

Sample Income Statement
(In millions of dollars)

Prior Current
year year
Sales $2,000 $1,600
Cost of Sales and Operating Expenses
Cost of goods sold 1300 900
Gross profit 700 700
Selling, general, and administrative expenses 320 240
Operating profit 380 460
Other Income (expenses)
Interest expense 60

Provision for Federal Income Taxes 140
Net Income 180





[image: image7.jpg]USEFUL TIPS FOR READING
AN INCOME STATEMENT
> The Income Statement is a statement of revenue less expenses, with

the difference between the two (hopefully) being a profit (revenues
greater than expenses).

> Revenues result from the sales of items scheduled to be shipped in
the Master Production Schedule.

> If discounts or allowances for quantity sales are granted, these
amounts would be subtracted from the revenue line, and the result
would be et sales.

> The expenses are divided into the major categories of Cost of Sales,
then Sales, General, and Administrative Expenses.

> The Cost of Sales includes the cost of the goods manufactured, which
is made up of: Direct Material, Direct labor, and Factory Overhead

> The difference between Net Revenue and Cost of Goods Sold is called
Gross Profit. The Sales, General and Administrative Expense
(SG&A) include all other expenses not included in Cost of Sals.

> The expenses for selling the product, general administrative expenses,
and all other expenses are subtracted from the gross profit to give the
profit before taxes or the loss the company incurred for the current
one-year period

> The profit remaining after taxes, or the loss, is then transferred to
mmmcd earnings in the Balance Sheet when the books are closed for
the yea




[image: image8.jpg]EXERCISE 1: Observations

Refer back to the Sample Balance Sheet on page 57. List three observations regard-
ing the Balance Sheet. The first one has been done for you.

o Assets are listed in order of liquidiy

Now list three changes from one year to the next

o Total assets have more than doubled from previous year to the current.

If you have trouble with this, reread “Useful Tips for Reading a Balance Sheet.”




[image: image9.jpg]Ratio Analyses and What They Mean

Is something good or is it bad? To answer this question we often
compare one thing to another. That is what a “ratio” is: It is an
expression of how many of one item is contained within an-
other.

Ratios can be used in the business world by selecting parts
of an ization’s finacial and comparing one set
of financial conditions to another. A company’s financial state-
ments contain key aspects of the business. By reviewing these
aspects, you can determine an organization’s economic well-be-
ing. One way of reviewing these financial conditions is to com-
pare one to another through dividing one by the other. For
example, if you had $200 cash and $100 worth of debts, you
could divide the cash (assets) by the debt (liabilities) getting a ra-
tio of 2 to 1. In other words, you have twice as many assets as
vou do liabilities.

Ratios are useful tools to explain trends and to summarize
business results. Often third parties, such as banks, use ratios to
determine a company’s credit worthiness. By itself, a ratio holds
little meaning. However, when compared to other industry
and/or company-specific figures or standards, ratios can be
powerful in helping to analyze your company’s current and his-

torical results. Companies in the same industry often have simi-
r liquidity ratios or benchmarks, as they often have similar cost
structures. Your company’s ratios can be compared to:

1. Prior period(s)

2. Company goals or budget projections

3. Companies in your industry

4. Companies in other industries

5. Companies in different geographic regions




[image: image10.jpg]In particular, here are three ratios that are useful when as-
sessing inventory.

1. Current Ratio. The current ratio assesses the organiza-
tion’s overall liquidity and indicates a company’s ability to
meet its short-term obligations. In other words, it measures
whether or not a company will be able to pay its bills. Techni-
cally speaking, the current ratio indicates how many dollars of
assets we have for each dollar of liabilities that we owe. The cur-
rent ratio is calculated as follows:

Current Ratio = Current Assets + Current Liabilities

Current Assets, refers to assets that are in the form of cash or that
are easily convertible to cash within one year, such as accounts
receivable, securities, and inventory. Current Liabilities refers to
liabilities that are due and payable within twelve months, such
as accounts payable, notes payable, and short-term portion of
long-term debt.

Standards for the current ratio vary from industry to indus-
try. Companies in the service industry that carry little or no in-
ventory typically have current ratios ranging from 1.1 to
1.3—that is, $1.10 to $1.30 in current assets for each dollar of cur-
rent liabilities. Companies that carry inventory have higher cur-
rent ratios. Manufacturing companies are included in this latter
group and often have current ratios ranging from 1.6 to 2.0; not
only do they have inventory in the form of finished goods ready
for sale, but they also carry inventory of goods that are not yet
ready for sale. Generally speaking, the longer it takes a company
to manufacture the inventory and the more inventory it must
keep on hand, the higher the current ratio.

What the current ratio might mean:




[image: image11.jpg]Alow current ratio may signal that a company has liquidity
problems or has trouble meeting its short- and long-term obliga-
tions. In other words, the organization might be suffering from a
lack of cash flow to cover operating and other expenses. As a re-
sult, accounts payable may be building at a faster rate than re-
ceivables. Note, however, that this is only an indicator and must
be used in conjunction with other factors to determine the over-
all financial health of an organization. In fact, some companies
can sustain lower-than-average current ratios because they
move their inventory quickly and/or are quick to collect from
their customers and therefore have good cash flow.

Ahigh current ratio is not necessarily desirable. It might in-
dicate that the company is holding high-risk inventory or may
be doing a bad job of managing its assets. For example, fashion
retailers may have costly inventory, but they might also have
significant trouble getting rid of the inventory—if the wrong
clothing line was selected for example. This makes it a high-risk
company, forcing creditors to require a bigger financial cushion.

Further, if a high current ratio is a result of a very large cash
account, it may be an indication that the company is not rein-
vesting its cash appropriately. Even if the current ratio looks fine,
other factors must be taken into consideration, as liquidity prob-
lems might still exist. Since ratios look at quantity, not quality, it
is important to look at what the current assets consist of to deter-
mine if they are made up of slow-moving inventory. In order to
assess inventory’s impact on liquidity, another test of liquidity
should be taken into account—the Quick Ratio (or Acid Test).

2. Quick Ratio or Acid Test. The quick ratio compares the
organization’s most liquid current assets to its current liabili-

ties. The quick ratio is calculated as follows:

Quick Ratio = (Current Assets - Inventories) + Current Liabilities




[image: image12.jpg]Assume that an industry that sells on credit has a quick ra-
tio of at least 0.8. In other words, the company has at least 80¢ in
liquid assets (likely in the form of accounts receivable) for every
$1 of liabilities. Industries that have significant cash sales (such
as grocery stores) tend to be even lower. As with the current ra-
tio, alow quick ratio is an indicator of cash flow problems, while
ahigh ratio may indicate poor asset management as cash may be
properly reinvested or accounts receivable levels are out of con-
trol. An organization’s ability to promptly collect its accounts re-
ceivable has a significant impact on this ratio. The quicker the
collection the more liquidity it has.

3. Inventory Turnover Ratio. The inventory turnover ratio
measures, on average, how many times inventory is replaced
over a period of time. In its simplest sense, an inventory turn
occurs every time an item is received, is used or sold, and then
is replaced. If an SKU came in twice during the year, was
used/sold, and then replenished, that would be two turns per
year. If this happened once per month, it would be twelve turns
per year, and so forth.

Inventory turnover is an important measure since the abil-
ity to move inventory quickly directly impacts the company’s
liquidity. Inventory turnover is calculated as follows:

Inventory Turnover Ratio = Cost of Goods Sold + Average Inventory

Essentially, when a product is sold, it is subtracted from in-
ventory and transferred to cost of goods sold. Therefore, this ratio
indicates how quickly inventory is moving for accounting pur-
poses. It does not necessarily reflect how many times actual physi-
cal items were handled within the facility itself. This is true because
the cost of goods sold number may include items you sold but
never physically handled. For example, items that we purchase and




[image: image13.jpg]then have drop-shipped directly at our customer’s site aren't ever
handled within our facility. A more accurate measure of how many
times actual physical inventory turned within the site would be:

Actual Physical Costof Goods Sold _ Average

Inventory Turnover Ratio ~ from Inventory Only ~ Inventory

Note that if the inventory has increased or decreased signif-
icantly during the year, the average inventory for the year may
be skewed and not accurately reflect your turnover ratio going
forward. Also, if the company uses the LIFO method of account-
ing, the ratio may be inflated because LIFO may undervalue the
inventory.

Unlike the current ratio and quick ratio, the inventory
turnover ratio does not adhere to a standard range. Organiza-
tions with highly perishable products can have inventory turns
of 30 times a year or more. Companies that retain large amounts
of inventory or that require a long time to build their inventory
might have turns of only two or three times a year. In general,
the overall trend in business today is to reduce carrying costs by
limiting the amount of inventory in stock at any given time. As a
result, both individual inventory turnovers and industry aver-
ages in this area have increased in recent years.

It is important to understand, however, that many factors
can cause a low inventory turnover ratio. The company may be
holding the wrong type of inventory, its quality may be lacking,
or it may have sales/marketing issues.




[image: image14.jpg]KEY FINANCIAL RATIOS

The following charts show the major calculations of key financial ratios:
liquidity, leverage and profitability. Within each of these categories are
examples of the ratios, methods of calculations and a short list of industry
standards and their significance.

Key Financial Ratios

Name

T bethod of Catataion

Standard & Significance

LiQuiDITY

Current Ratio

Current Assets
Current Liabilities

Industry average: Low—
possible cash flow prob-
lems; High-may not be
managing assets well.

Quick Ratio

Cash + Receivables
Current Liabilities

Low—cash flow prob-
lems; High—may m
poor asset management.

Days Sales Outstanding
(©s0)

Receivables x 365
Net Sales.

High hurtscas flow;
ey low-—too resticive
e pei

Inventory Turnover

Cost of Sales

Industry average: Low—

Tnventory problems with slow
inventory which may hurt
cash flow; Very high—
may run out of inventory.

LEVERAGE

Debt-to-Equity

Industry average

PROFITABILITY

Return on Equity

Net Income
Equity

The higher the better: The
return on the shareholders|
investment in the business.

Return on Assets

Net Income
Total Assets

Industry average: Return
the company earns on
every owns.





[image: image15.jpg]EXERCISE 2: Calculating Ratios

A. Using the Financial Statements on pages 57 and 59, calculate the follow-
ing ratios. (Round all numbers to the nearest 100th.) See page 114 in the
back of the book for the correct answers.

Key Financial Ratios

METHOD OF ANSWERS
NAME CALCULATION | Prior Year _ Current Year
Liquidity
Current Ratio Current Assets
Current Liabilities
Quick Ratio Cash + Receivables
Current Liabilities
Days Sales Outstanding Receivables x 365
(Ds0) Net Sales
Inventory Tumover Cost of Goods Sold
Inventory
Leverage
Debt-to-Equity Total Liabilites
Equity
Profitability
Return on Equity Net Income
Equity
Return on Assets Net Income
Total Assets

List five questions you might ask based on your observations of the
Balance Sheet from the prior exercise.





[image: image16.jpg]FINANCIAL EVALUATION CHECKLIST
Following are questions one might ask when evaluating financial statements.

Balance Sheet

[ Inventory—How is it valued (LIFO, FIFO, standard)? Likelihood of
obsolescence?

[ Accounts Receivable—What is its aging? Is there a particular cus-
tomer that makes up that aging? (Methods of inventory valuations are
covered later in this module.)

[ Fixed Assets—Method of depreciation, useful lives used, how heavily
depreciated?

[ Accounts Payable—Who are il ,upphm? Terms and quality of the
relationship? How quickly are bills pai

[ Short-Term Debt—How much? What are the terms and conditions?

=)

Long-Term Debt— Interest rate, repayment requirements; is the part
due in the next year shown as a current liability

[J Other Liabilities—Are adequate reserves established for warranties,
environmental costs, litigation in progre:

[ Equity—Who are major sharcholders? Likelihood of change in owner-
ship or takeover?




[image: image17.jpg][ Read the profit and loss statement. What is Cost of Sales (COS) as a %
of sales (COS = direct materials/direct labor/factory overhead). What
is gross profit as a % of sales (sales - COS)? What is SG&A as a %
of sales?

[ Evaluate major cost items as a % of sales and compare to industry data.
Are expenses reasonable and in proportion?

[ What operating lease commitments (i.e., leases not shown on balance
sheet) are there?

[ What portion of the depreciation expense is the company charged rela-
tive to its use of the fixed assets?

[ Major litigation?

[0 Any other significant events?




[image: image18.jpg]IDENTIFYING SUPPLIERS WITH
POTENTIAL CASH-FLOW PROBLEMS
To ensure on-time delivery to your customers, you need to be confident that
your supplier is financially healthy enough to get your orders filled. Answers
to the following questions can help you identify suppliers with a potential
cash-flow problem.

« Is a start-up or rapidly growing company.

« Has slow-paying customers or heavy dependence on one slow-paying
customer. (Check the DSO [day’s sales outstanding] ratio.)

« Has high levels of inventory.
« Is rapidly expanding to meet customer demands.
« Has a heavy investment requirement in new technology.

« Has insufficient knowledge of its costs and, as a result, inappropriate
pricing.

« Has poor internal cost controls.
Following are some symptoms of a company’s cash-flow problems:
« Has a series of slow payments or CODs on a Dun & Bradstreet report.
« Stops taking advantage of discounts for early payment.
« Has problems making delivery schedules.
« Factors its receivables (i, sells them to a bank or finance company).
« Requests early payment from customers.

« Has inventory that appears to be moving slowly. (Check the inventory
turnover ratio and, if possible, the inventory aging.)

 Has low current and acid-test ratios.
* Has difficulties meeting commitments to its lenders. (Check the debt-to-

equity and debt-service ratios. Also check the banking statement on the
D & B to see if the bank indicates any problems.)




Exercise

1)

[image: image1.jpg]MODULE
1A%

Inventory Management
and Financial Analysis

Learning Objectives
After completing this module, you will be able to

® Describe major inventory classifications

= Complete an analysis of a balance sheet and income
statement

Write the formula for the basic manufacturing equation
and describe how inventory impacts it




2)

[image: image19.jpg]PURPOSE: This exercise will enable you to practise identifying the effects of
inventory errors on the financial statements.

The net income per books of Wacky Wicks Company was determined without
knowledge of the errors indicated.

Net Income

Year Per Books Error in Ending Inventory
2004 $ 150,000 Overstated $ 9,000
2005 156,000 Overstated 21,000
2006 162,000 Understated 33,000
2007 168,000 No error

Instructions

‘alculate the correct net income figure for each of the four years after taking into
.ccount the inventory errors.




Case study

[image: image20.jpg]1. If the beginning inventory for 2004 is overstated, the effects of this error o

cost of goods sold for 2004, net income for 2004, and assets at December 31
2005, respectively are:

overstatement, understatement, overstatement
overstatement, understatement, no effect
understatement, overstatement, overstatement
understatement, overstatement, no effect

oo o



[image: image21.jpg]Acme Limited

Acme Limited (AL) is a manufacturing company that produces various synthetic
construction materials. The shares trade on the local stock exchange. In 2005, the
company was able to negotiate an extremely low price on raw materials. As part of
the deal, AL had to buy more material than was needed. However, since they had
the excess cash, and since the production manager, Owen, was able to assure the
purchasing manager, Enid, that the material would all be used up within the year,
the deal was consummated.




[image: image22.jpg]Unfortunately, the following year, Acme found demand for its products had fallen
dramatically because new housing starts were down significantly. As a result, cash
was short and AL was considering going to the bank for financing.

After preliminary discussions with the bank, Warren, the V.P. of Finance, found
out that AL was considered to be a high-risk company. The bank was reluctant to
lend AL the funds and would do so only at a significant premium. Warren felt that
the interest rate was excessive and was looking for alternative means of financing.
He called a meeting with his managers to discuss the problem.

Warren:

We are short of cash and we need some operating capital. Our customers are taking
longer to pay than usual due to the state of the housing markets and demand is
down. Any suggestions?

Hiroko (controller):
[ guess we've tried the usual sources, like the bank?

Warren:

Of course! The bank, however, is not willing to loan us funds unless we pay them
some exorbitant interest rate. Owen, what are we doing with all this raw material?
Can’t we sell it off? That would generate the money that we need. Or do we need
‘he inventory for production?

Jwen:
\Well, we don’t really need it in the short run since demand has fallen off,
However, 'm not sure that we can find a buyer. Besides, I don’t really want to let
“0o much of it go since I feel that demand will pick up again within the next few
nonths. Prices have already started to rise.
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e Buy the excess raw material from AL for $700,000 cash. ALs cost was
$600,000.

e Store the inventory and insure it.
Sell it back to AL over the next year as AL needed it with the proviso that it all
had to be re-purchased within the year.

AL agreed to:

o  Buy back the inventory over the year at a total cost of $800,000, sufficient to
cover the inventory costs (including the carrying costs on the inventory) and
provide a reasonable return on WU’ money.

Enid called Warren immediately to tell him of the deal.

Enid:

Warren, I think that I've solved our problem. I've negotiated a deal that will get us
$700,000 cash, ensure a steady supply of raw materials at not much more than
market rates, and boost our net income before tax by $100,000!

REQUIRED:

Assume the role of an independent advisor to the company and comment on how
the proposed transaction should be accounted for.





